Name (Print Clearly):                                  PID: 

MTH133 Section 64, Quiz 6
Nov.25, 2009   Instructor: Dr. W. Wu 

Instructions: Answer the following questions in the space provided. There is more than adequate space provided to answer each question. The total time allowed for this quiz is 15 minutes.
1[3pts]. Does the following series converge absolutely, or converge conditionally or diverge?
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，which is an alternating series and 1/n are decreasing to zero.  So it converges.
But 
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 is the harmonic series which is divergent.

So 
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 converges conditionally.
2 [3pts]. Find the interval of convergence for 
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 (show the details of your work).
The center is -2. The radius R is 1/L.
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At x = a – R = - 4, 
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, diverges.
At x = a + R = 0,
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 is an alternating series and 1/n are decreasing to zero. 

So it converges at 0.
Thus, the interval is 
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3[3pts]. Find the Taylor series at x = 0 for
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. (Hint: use geometric series)
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4[3pts]. Find the Taylor series at x = 2 for
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. (Taylor’s formula)
Use Taylor’s formula: 
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So, 
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5[3pts]. Find the first 4 terms of the binomial series for
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So, 
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